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Question Number : 1 Question Id : 91394311913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Prime objective of using audio-lingual aids in a classroom is to keep students to develop :

Options:

o1304z4cm0;  2PEHINg and punctuation skills



Listening and speaking skills
91394346802, 2

Reading and writing skills
91394346803, 3 ?

Vocabulary and grammar
91394346804, s

Question Number : 1 Question Id : 91394311913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Heg A1 & 7
Options:

a1 3R fag-fa=m S

91394548801,

g S WTH0T ShigTeA

9133454680%.

T2 3R e e

9153342468035,

STl SR SR

913345465804,

Question Number : 2 Question Id : 91394311914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following is best instrument to evaluate quality or characteristics of a

learner ?
Options:

91234548805, Checklist

Rating Scale
91394346806,

il " T
91334546807, Invents s

91394346808, Rubrics

Question Number : 2 Question Id : 91394311914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394346805, B8 l
91394346806, gofi—ferior Tar

91334546807, j W
|: % -

91334546808,

Question Number : 3 Question Id : 91394311915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The growth, development and increased access to technology over decades have contributed

to learner characteristics in terms of using technology. Below are given two sets, please

match the generation as being popularly called based on birth year :
Set-1 Set - 11

(a) Born 1945 and before (i)  Generation Z
(b) Born 1946 to 1964 (i) Generation Y
(c) Born 1965 to 1976 (iif) Baby Boomer
( (
( (

d) Born 1977 to 1995 iv) Traditionalist

e)  Born 1996 and after v) Generation X

Options:

9123345465809,

91394346810, (i) (@) (@) (v) (V)
91394346811 1) (v) @ () (@v)

9133454681%. (IL[) (IV) (l) (V) (LI'.)

Question Number : 3 Question Id : 91394311915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Fe
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Options:

91394346809, (iv) () (v) (@) (1)
91394346810, (i) (1) (@) (@) (v)
91394346811 (1) (v) () (i) (iv)

9153394246812, (ILI'.) (IV) (l) (V) (LI'.)

Question Number : 4 Question Id : 91394311916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is correct statement in relation to fishbowl style of classroom

layout ?
Options:

Students sit in “C’" shape formation with teacher at the centre.
91394346813,

Students are grouped together on small tables so that they can engage in small group

T discussions

Some students sit close together in a circle in the centre of classroom while the rest of

students stand at the back of classroom and observe the group discussion.
91394346315,



Students sit in horizontal rows so that they can clearly see each other but this does not

facilitate group discussion.
91394346516,

Question Number : 4 Question Id : 91394311916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

DH ‘C’ SMHR &I =1 1 93 2 3R f1eges g § e €1

91334546813,

DI ] DI USl o 25-11Q TSI STl difek o oY §HE ==l L Heh |
91394346514
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Question Number : 5 Question Id : 91394311917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the apex institution in India working in the area of training

educational planners and administrators ?
Options:

2915334246817,

SCERT

91334546818,

iy Lo

91334546820, NCTE

Question Number : 5 Question Id : 91394311917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



T H 3 AR

91334546817,

T G g 3R A

91334546818,

91394346819, 1 AT T

WHIAT

912334546820,

Question Number : 6 Question Id : 91394311918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T'he identification of a research problem involves

(a) Selection of the academic area

(b) Demarcation of the study area

(c) Rejection of personal and collective choices
(d) Specific topics within the area

(e) Management of financial sources

Code :

Options:

(a), (b) and (c)

2915342468821,

(b), (¢) and (d)

91334546822,

(a), (b) and (d)

91334546823,

(c), (d) and (e)

91334546824,

Question Number : 6 Question Id : 91394311918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(@), (b) ¥R (c)

91334546821,

(b), (c) 3R (d)

215394248822,

(a), (b) 3R (d)

91334546823,

(c), (d) 3TR (e)

91334546824,

Question Number : 7 Question Id : 91394311919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Participatory research is also described as :
Options:

o150434cm0s  INdIVidual-based

Group-based
91394346826

Communitv-based
91394346827, .

1394346505 SO VErnment-based

Question Number : 7 Question Id : 91394311919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

AT

215942468825,

G- AT

91334546826,

e - AT

2915334248827,

TR - AT

B1334546825.

Question Number : 8 Question Id : 91394311920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the f(.‘:[[n:.‘swing is an incorrcet statement ?

Options:
Ex post facto research uses data that you collected before you came up with your
s1594346529 1Y POthesis

Archival research uses data collected and sometimes coded by someone else.
913943465830, .

S Observational methods are used in both correlational and experimental research.

Using a scatterplot to graph your correlational data will not tell you the direction of the

relationship (positive or negative).
91394346832,

Question Number : 8 Question Id : 91394311920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frefafad § 9 $F-91 F97 Tad 7

Options:
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91394346829,
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Question Number : 9 Question Id : 91394311921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The advantages of secondary analysis in research are

(a) Itis inexpensive.

b) There is no need to construct a measuring instrument.

c¢) Data archives are a valuable source.

d) Useful opportunity is provided to produce valuable knowledge.
e) Provides less time to understand data.

Code :
Options:

(a), (), (d) and (e)

B91334548823.

(a), (b), (c) and (d)

913345465824,

siss4zacsss 10) {¢) and ()

01394346536, () and (e) only

Question Number : 9 Question Id : 91394311921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

@), (), (d) 3 (e)

913394546833,

(a), (b), (c) ¥R (d)

91234546824,

(b), (c) #R (e)

215942485855,

Faa (d) 3R (e)

91334546836,

Question Number : 10 Question Id : 91394311922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the type of validity with its major source of problem :

(a) Construct validity (i)  Faulty or poor measure, resulting in

mislabelling /misinterpreting behaviour
(b)  External validity (ii) Treatment and no-treatment groups were

unequal before the study began

(c) Internal validity (iii) Sample of participants was not representative
Code :
(a) (b) (o
Options:

91334546837, (l) (H) (LI!I)



@ ) G

2159424685855,

i) (i)

91334546839, [:II_I'.) (

() (1) (i)

2915334246840,

Question Number : 10 Question Id : 91394311922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334546837, (l) (Ll) (LL[)

91394346538, (l) (I_Ll) (I_[)

91334546829,

91334546840, (I_[) ([) (I_LI'.)

Sub-Section Number: 2
Sub-Section 1d: 913943608
Question Shuffling Allowed : Yes

Question Id : 91394311923 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension



Read the passage carefully and answer questions from 11 to 15 :

The phrase “public diplomacy’ reflects multiple viewpoints and ideas and hence, does
not possess a unique, well-established conceptualisation. Yet, insimple words public diplomacy
is the influence of nation on foreign audiences. Public diplomacy may also be defined as
‘direct communication with foreign peoples, with the aim of affecting their thinking and
ultimately, that of their governments’. Hence, public diplomacy can be thought of as a process
of a nation listening and understanding the needs of other countries and communicating its
viewpoint to eventually build relationships. Public diplomacy is based on the identity and
reputation of a nation that is dictated by many factors : political, social, economic and
cultural. Trust has been highlighted as the most important factor necessary to initiate a
conversation, sustain a dialogue and build relationships. The focus on developing
relationships is also indicated in the definition of public diplomacy as ‘the process by which
direct relations are pursued with a country’s people to advance the interests and extend the
values of those being represented’. It is also highlighted that engagement and dialogue as
key indicators of developing relationships in public diplomacy. “Effective public diplomacy
is a two-way street with reciprocal influence on both the source and receiver involved in
the ongoing communication process”. The ongoing communication process leads to
developing lasting relationships with a foreign audience that bestows nations with soft power.
Soft power is an advantage in world affairs and incites admiration and respect in other parts
of the world. The soft power of a country is defined by three factors : its culture, political
values and foreign policies. All these factors primarily rest on its ability to shape preference
of others by using strategic communication skills. We must remember that public diplomacy
is not a public relations campaign, but to create on enabling environment for government
policies.

Sub questions

Question Number : 11 Question Id : 91394311924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Indentify the objective of public diplomacy.
Options:

Influence the nation
91394346341

Communicate directly with people
91394346842, “

Affect the thinking of foreign governments
91394346843,

Conceptualise national listening
91394346844,



Question Number : 12 Question Id : 91394311925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What factors impact the identity of a nation ?
Options:

3 Y g S, - . .
PO— Political, social, economic and cultural

" | .
91304346546, National reputation

OTe1o ; -
s139434ca4- FOTEigN audience

i i deas
T Different ideas

Question Number : 13 Question Id : 91394311926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Direct relations are necessary with a country to :
Options:

2 : : . 3
91394346549, Pursue vested interest

. -0 ication sourc
SRS Influence the communication source

- - —] L" he .-_ L-!
SRR Advance the representative values

Highlight the key indicators
91394346852, : :

Question Number : 14 Question Id : 91394311927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
T'he ongoing communication process will provide :
Options:

Development of foreign audience
91394346853, >

S R & ’
1304346354 Lrdvantageous soft power

TR .
S Admiration for other countries



sition of ¢ ¢ s on others
SRR Imposition of cultural values on others

Question Number : 15 Question Id : 91394311928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What does the passage declare ?

a) Public diplomacy is not for indirect relations with other countries.
b) Public diplomacy builds relations with other countries.

c)  Trust is needed to sustain a dialogue.

(d) Strategic communication skills will help shape others” preference.
(e)  Public diplomacy is not public relations.

f) Soft power is not used to have a role in world affairs.

Code :

Options:

(a), (b), (c) and (d)

91334546857,

(b), (d), (e) and (f)

91334546858,

(d), (e) and (f)

91394346559. (H)’

(b), (c), (d) and (e)

91234546860,

Question Id : 91394311923 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 91394311924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HURHT FeAid % 3299 hl Te=1T

Options:

T2 ] GYTfad Ll

913345465841,

51394346842, TN & H1Y gl Harg

facelt TRl &1 919 ] TYTfad &l

91334546843,

T FA0T ki SAIERO kT FH0T HEAT

2915339424684, i

Question Number : 12 Question Id : 91394311925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334546845,

R e E=a

9153394246846, ™

faeei grarTo

B1334546847.

fafy= fa=r

H913345468458.

Question Number : 13 Question Id : 91394311926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

fafea wand fea 9eq & fag

913345485849,

HER o |4 ol 94Ifad & & fau

2915334246850,

gidfereaeh Hed =l dgen o % fou

215942468851,

HEdqul F8Tehi o1 ISR & & fou

91334546852,

Question Number : 14 Question Id : 91394311927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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91334546853,
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Question Number : 15 Question Id : 91394311928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b), (c) 3R (d)

912334546857,

(b), (d), (e) TR (f)

91334548858,

(@), (d), (e) 3R (f)

91334546859,

(b), (c), (d) R (e)

215394246860,

Sub-Section Number: 3
Sub-Section 1d: 913943609
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394311929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Persuasive communication in a classroom intends to make penp[e accept a particu[ar :

Options:

srsonmisesy VeIl THise



Verbal jugglery
91394346362 :

o PR Pl
sisgepess DoOSIHON

91394546564, Disorientation

Question Number : 16 Question Id : 91394311929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91234546861, AMiessh B

s ar Shidd
A1 Z29424E882,

912334546863,

91394546864, ¥ i

Question Number : 17 Question Id : 91394311930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective communication inside the classroom leads to :
(a) Problem - solving strategies
(b) Intensive - knowledge
(c) Extensive - knowledge
(d) Uncontrolled discourses
(e) Vertical communication

Code :
Options:

(a), (b) and (c)

91334546865,

(b), (¢) and (d)

91334546866,



(c), (d) and (e)

2915339424867,

91394346868, (d), (e) and (a)

Question Number : 17 Question Id : 91394311930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(@), (b) ¥R ()

215394248865,

(b), (c) 3R (d)

91334546866,

(©), (d) 3R ()

91334546867,

(d), (e) ¥R (a)

91334546868,

Question Number : 18 Question Id : 91394311931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Educational broadcasting suffers from the factor of :

Options:

Extended interactivity
91394346369 2

91394246570, Automated communication

1 i
e Attention span

Internal-external mmnnpn[\;
91394346872, /



Question Number : 18 Question Id : 91394311931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91334546869,

HEITeAd SUHT

91334546870,

e 3y

913345468871,

AT -RI UHITHFRE

91334546872,

Question Number : 19 Question Id : 91394311932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : Questioning is a primary tool of classroom communication for teachers when

they lead discussions.

Reason (R) : Student learning is the major motive of teachers, made possible by questions

and answers.
Code :

Options:

91394346873, Both (A) and (R) are true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394346874

sygsazaceys W) 15 true, but (R) is false.

(A) is false, but (R) is true.

2153394246876,

Question Number : 19 Question Id : 91394311932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

_(A)a:‘fr{(R)aﬁH%?%|

H91334546873

913345465874,

91394346875, (A) Hel g, Ihq (R) Hel el 2l

(A) H& & %, fohg (R) &l T

91334546876,

Question Number : 20 Question Id : 91394311933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

When students and teachers involve in communication, the purposes are :
a) To develop professional working relationship.
b) To create a participatory environment in the classroom.

(c) To engage in out-of-classroom interaction.
(d) To seek teachers” intervention in personal matters.

e) To control teachers’ attitude towards students.

Options:

(a), (b) and (¢)

91334546877,

(a), (d) and (e)

91334546875,

(b), (c) and (d)

91334546873,

(c), (d) and (e)

91234546880,

Question Number : 20 Question Id : 91394311933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a), (b) 3R ()

91334546877,

(a), (d) 3R (e)

91334546875,

(b), (c) 3R (d)

91334546873,

(0), (d) 3R (e)

291234546880,

Question Number : 21 Question Id : 91394311934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If HYDERABAD is coded as DABAREDYH, then BENGALURU will be coded as :

Options:

sissisicas; RYPQRSTLIB

sigsagaanas UXURULCAB

o1394246503. URULAGNEB

91394346884, BDEFGHIJK

Question Number : 21 Question Id : 91394311934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e HYDERABAD &I DABAREDYH % ¥4 H $ieag a1 W11 &, 9 BENGALURU 31 e #1
B ?

Options:

XYPQRSTUB
91394346881,

o1504346852, O W URULCAB

91394346883 URULAGNEDB

91394346884, BDEFGHIJK

Question Number : 22 Question Id : 91394311935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the number series 10, 13, 22, 49, ? ;

Options:
21294246585, 89

192
H139454E8886. 126

C
H133454E8887. 7

130
91394346888

Question Number : 22 Question Id : 91394311935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
10,13,22,49, _ 2 ki Gl H 3T 3§ I ¢
Options:

O
H1334546885. 89

91394346586, 126

21594246857, 97

L |
91394346888, 130

Question Number : 23 Question Id : 91394311936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The next term in the letter series EE, GG, 1], KN, MS, ?
Options:

00

912334546859,

912334546830, OY

913345468591, YO

XY

91334546852,

Question Number : 23 Question Id : 91394311936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U H@ger EE, GG, IJ, KN, MS, __ 2 H 37Tell Ug 21 :

Options:

91234546859, 00

’
91334546830, OY

H91334546891. YO

s
H13345468392. XY

Question Number : 24 Question Id : 91394311937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the word which is different from the rest :
Options:

91394346393, VVIile

Kn-:m-'[edye
91394346894, )

91394346895, Read

H139454858596. Learn

Question Number : 24 Question Id : 91394311937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e & faum wse =1 4 :

[SLERL

913345488593,

EIG!

91234546894,

91334548855, ;

291539424E8856.

Question Number : 25 Question Id : 91394311938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pointing to a woman, a man siad, “Her father is the only son of my father”. How is the man
related to the woman ?

Options:

Father-in-law of the woman
91394346397,

Ty Father of the woman

9139434658595, Brother of the woman

e — Brother-in-law of the woman

Question Number : 25 Question Id : 91394311938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T Hfea i AR A L g T Ge9 A e, ' 35h Toar FY foa &F wF 9 gF 2§ 9% Y =9
Hfgen ¥ FY Fafyd ¢ 2

Options:

91334546897, HIgeTl bl Htj’{

_Fﬁwmﬁm

2153394248858

H9133454858599. [ia AT <l W[_QF

- Tfee 1 Fe-33-all

215394248900



Question Number : 26 Question Id : 91394311939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises (a) and (b). Four conclusions are drawn from them. Select
the code that states validly drawn conclusion(s) [taking the premises individually or jointly].

Premises : (a) All diamonds are precious stones.
(b)  Some carbon compounds are diamonds.
Conclusions :
i)  All precious stones are diamonds.
ii) Some non-carbon compounds are precious stones.
iii)  All precious stones are carbon compounds.
iv) Some carbon compounds are precious stones.
Code :
Options:

(i) and (iv)

91334546901,

91394346302, (i) and (1v)

T -
91334546903, (LLI) 2 11[}

(iv) only
91394346904, ‘

Question Number : 26 Question Id : 91394311939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ﬁﬁﬁraﬂaﬁaﬁa?a)ﬁr{(b)mﬂq%! T ¥ =R frepd freeel U ¥ 1 39 Fe w1 99 e S
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frerd

(i) | SR Teer € E |

(i) TS TSR AMTh TR TeoR T |

(iii) G SHTA Tee FTeA ATE L |

(iv) TS HTeA AT AT Fe2r T |
h<

Options:

(i) 3R (iv)

2915334246901,



(ii) 3R (iv)

91334546902,

Fa (i)

913345465903,

Fad (iv)

2153342463904,

Question Number : 27 Question Id : 91394311940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Validity in logical reasoning refers to :

(a) Any simple single proposition

(b) Relation between premises and conclusions
(c) The conclusion alone

(d) Truth of the premises

Select the correct code from below :
Options:

(a) and (b)

913345465305,

(b) and (c)

913345463086,

91394346907, (b) alone

(d) alone
91394346908,

Question Number : 27 Question Id : 91394311940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TereTia TE 1 duar efatea § 9 e Hefa €2
(a) IS A Tahdl fa=R

(b) STUREE AR FohY & &= oy

(c) heal ferd

(d) STHNEE i F=a1
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Options:




(a) 3R (b)

91334546305,

(b) 3 (c)

H1334546906.

e (b)

91334246307,

Had (d)

215394246905,

Question Number : 28 Question Id : 91394311941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In a valid deductive argument, if the premises are true, then :
Options:

--T } 2 L.‘. ] I..‘ I..‘ -
01594346900 Conclusion must be false

“onclusion can be probably ,
01594346910 Conclusion can be probably true

Srgsrae Conclusion must be true.

~onclusi P ivcs Ba S,
41394346912, (:_IL‘!I'I.L[LI":-IIZ]I'I ﬂ"lc'l} some bmes I_E_' rue

Question Number : 28 Question Id : 91394311941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fordT 9% fTATeHeR 9ek o afe STarETs Wer 8, o

Options:

91394346309, et S7erva 3T B =Ry |

f=hy HYad: 99 B 9hd ¢ |

91394346910,
01394345011 1ToRY STTETAA: FA BT =MET |
91394346912, Ty -yl 9 8 9ehdl ¢ |

Question Number : 29 Question Id : 91394311942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identity the reasoning in the following argument :

“A person without a goal is like a computer without a program”.
Options:

Hypothetical

2915342469135,

s1394346914 Deductive

91394346015 nductive

Analogical
91394346916,

Question Number : 29 Question Id : 91394311942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Trefafed qe § 9 qehwfe w1 gg=nu .
" AeTd AT TH Hel 1 a¥E ¢ forad s g 92 &l |

Options:

9153394246915,

91394346914, |1 1ATICH

HANTHATHS

21594246915,

SIFEEEEE
91394346916,

Question Number : 30 Question Id : 91394311943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Among the following statements two are contradictory to each other. Select the code that
represents them :

Statements :

(a) All judges are lawyers.

(b) Some judges are lawyers.

(c) Some judges are not lawyers.
(d) No judges are lawyers.

Code :

Options:



(a) and (b)

91334546917,

(a) and (c)

21594246915,

(a) and (d)

912345469149,

(b) and (d)

91234546920,

Question Number : 30 Question Id : 91394311943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fau 7T FeHl H SH UF TR T §5IHF ¢ | 3= ([89d el & Sl FHAT :

(a) T =i g €
(b) FS AT aFTA € |
(c) FS AT THIA Te € |
(d) E =AY T TE ¢

(a) 3R (b)

9123245468917,

(a) ¥R ()

91334546918,

(a) 3R (d)

91334546919,

(b) 3R (d)

91334546920,

Sub-Section Number: 4
Sub-Section 1d: 913943610
Question Shuffling Allowed : Yes

Question Id : 91394311944 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)



Cuesticon Label | Comprehension

) Number of classes taken by the teacher daily _
Name of the ) " | Remuneration
Teacher [On Monday, Tuesday and [ On Thursday and per class
Wednesday Friday
A 2 0 Z 5000
B 3 - T 8000
C 1 3 T 6000
D 2 2 < 4000
E 3 1 T 3000

The above table shows the number of classes taken by each teacher in different days of the
week and the remuneration per class per teacher. Saturdays and Sundays are holidays.
Based on the above data, answer the questions given below. One cell is empty and you may
need to calculate it depending upon the information available in the question.

Sub questions

Question Number : 31 Question Id : 91394311945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total remuneration earned by teacher E in one week ?
Options:

91394346021, v 12,000

91394348922, X 9,000

< 23,000
91394346923,

1394346924, X 02,000

Question Number : 32 Question Id : 91394311946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In one week, teacher B earned < 72,000. How many hours of classes did he take on Thursday
and Friday ?

Options:

91334546925, 0

1 hr. daily
91394246976, /



2 hrs. daily
91394346927 2

3 hrs. dailvy
91394246928, /

Question Number : 33 Question Id : 91394311947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ratio of the total weekly earning of teacher A to the total weekly earning of teacher D
IS :

Options:

i
o

91334546929,

91394346930, O - 4

b
1%

913345465921,

L
oo

91234546932,

Question Number : 34 Question Id : 91394311948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The total amount spent by the teaching institute for paying remuneration to all the teachers
for taking classes on Monday only is :

Options:

91394348933, 27,000

o150434msm4 < 08,000

91394348035, < /000

913345465936, N 52,000

Question Number : 35 Question Id : 91394311949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assume that 4 weeks constitute a month. What will be teacher D’s earnings in a month ?

Options:

91394346937, S 1,600,000



91334546928

91334546959

91384548940

Question Id : 91394311944 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Number

< 40,000

< 1,20,000

< 16,000

s: (31to 35)

Cuesticon Label | Comprehiension

T91e7eR G ek ohedl ohi HE&Al -
Tterh &
TR, FEER 3 g9ar | TEaR 3 R RUICILED

A 2 0 Z 5000
B 3 " Z 8000
C 1 3 Z 6000
D 2 2 Z 4000
E 3 1 Z 3000

ST difctehl H Yook f1ereh §R1 9ware o Ster-fer faAl § off T2 shenedi iR ufa =i ufq forers
iafes &1 Seord foan 7 ¥ 1 wifer iR aem e & faq €
IUad AThel o YR W, 9 feu U g % W dNU1 U YT @reft § SR ST weA o

IS YT F SMER W IR HT IS Tl ¢ |

Sub questions

Question Number : 31 Question Id : 91394311945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T gE H et E i A o g € -

Options:

913345468921

913345469272

91234546923

91334546924,

< 12,000

%9,000

% 23,000

< 33,000




Question Number : 32 Question Id : 91394311946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U T | e B T 72,000 AT foman | TEAR SR YERAR &1 394 fohde S et o 2

Options:
91394246925, 0

1 51 wfdafeq

21594248926,

Q1294246927 2 ‘Er'é: l
3 ¥¢ qfdfeq

91334546928,

Question Number : 33 Question Id : 91394311947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fo1ereh A 3T forerar D 511 Ft Aranfesk A 3T =61 3794 © ¢
Options:

91394346929, 2 - O

= e
91394346930 2 - 4

3.4
91394346931, - -
91394346932,

Question Number : 34 Question Id : 91394311948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHIA QMHAR 1 Fefl o o dgel T i 1 o i1 Harawl & o foTg ¥1e10r T g1 =39 &
?—FIT@T%"
Options:

1394346933, < 27,000

stoazacass 20000

H1334546935. T4 r‘?r“”U

91394348936 1 22,000



Question Number : 35 Question Id : 91394311949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT Siifse fof T AR H 4 AR € | U "R H YR D i AfSa 31 2

Options:

< 1,60,000

91334546937,

a1304346938. 1 20,000

51394346939, & 120,000

< 16,000

91234546940,

Sub-Section Number: 5
Sub-Section 1d: 913943611
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394311950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are Operating Systems ?

(a) UNIX (b) Ubuntu (c) Mac (d) Ada
Code:

Options:

Only (a) and (c)

91334546941,

Only (a), (c) and (d)

913345469472,

Only (a), (b) and (c)

91234546943,

Only (b) and (d)

2915334246944,

Question Number : 36 Question Id : 91394311950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freifera | 9§ s siqefen fawen €2
(a) I (b) &L (c) HH (d) TeT
he



Options:

% (a) 3R (o)

91334546941,

% (a), (c) 3R (d)

913345469472,

"

faF (a), (b) 3R (o)

912334546943,

fad (b) 3R (d)

91334546944,

Question Number : 37 Question Id : 91394311951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IRC is the acronym of :
Options:

International Relay Chat
91394346945, :

Internet Related Commerce
91394346946,

139434604, 1NTETIEL Relay Chat

% - ey
91594346948, Information Relay Centre

Question Number : 37 Question Id : 91394311951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3. R HT, foheen yss-4Heay T2
Options:

2915334246945, EE R ﬁﬁ Ta-a

g2 Refes +imd

213394246948

91334545947, : ‘ﬁﬁ %IE
91334546945, E T l Ill | ﬁa‘ ﬁ?‘_{

Question Number : 38 Question Id : 91394311952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
MIME stands for :
Options:

Multipurpose Internet Mail Extensions
91394346949,

91394546950, h-’lu[tl[mlrpnse Internet Mail Entity

Multiple Internet Mail Extensions
91394346951,

Sy Multiple Internet Mail Entities

Question Number : 38 Question Id : 91394311952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UH. 3. UH.E. o1 31 319 § 2

Options:

91334546945,

91394346950, 1C=HMHM ot HO Q[EEI

qeeidd g2e Hel Ty

H139454685951.

e qe 322 Ul Ufeds

91334546952,

Question Number : 39 Question Id : 91394311953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is a short-cut to “Undo Typing” ?

Options:

91394346953, Ctrl TP

91394346054 CIITY

sisausinaes SHETZ

91234546956, Ctrl+5



Question Number : 39 Question Id : 91394311953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
iR § | &M ' og eEftn’’ &1 widwe 772
Options:

gl + i

291594246955, s

Forel + 9

913945465954, i

HIA + IS

291594246955, A

e+ ™

912334546956,

Question Number : 40 Question Id : 91394311954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At which layer of OSI Model of Networking, HT'TP works ?
Options:
150454605, L Dysical Layer

Iransport Layer
91394346958 .

W
T Network Layer

Apphicatio v
a1394346960. *PPlication Layer

Question Number : 40 Question Id : 91394311954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TegTaT & . UH.AE. Hied & 59 TR |, =239 ™ Far 82

Options:

91394346957, difeh &R (THISTehd 3))

qiiged T (e oidl)

91234546958,

913345465959, esen R ("Ic',Ol#; | )



91394346960 EH@SI’@[TI W (Wﬁ -(aﬁﬁ)

Question Number : 41 Question Id : 91394311955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the following agricultural practices :

(a) Contour bunding
(b) Relay cropping
(c) Zero tillage

In the context of global climatic change, which of them help/helps in carbon
sequestration/ storage in the soil ?
Options:

a) and (b) only
91394346961 (a) < (b) y

(c) only
91394346962, /

913943245963, (ﬂ) and (L) l:m[}r

(a), (b) and (c)

91334546964,

Question Number : 41 Question Id : 91394311955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et it vgfa w fo=m #ifey
(a) TA-WAR HAUHF HHl

(b) T wya

() A

SfYas Seraryg uftads & ded § 370 4 fhad /fF8 ga1 § *eH gyator/ Yerv § gee fierd 82

Options:

FIA (a) 3R (b)

21594246961,

91234546962,

FIA (a) 3 ()

913345465963,



(a), (b) ¥R (c)

91334546964,

Question Number : 42 Question Id : 91394311956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Find the odd one from below :
Options:
Perceiving
21394246965, o

Lis.tteningT
91394346966, ?

91394346967 [nferring

Comprehending
91394346968,
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Options:

ToFefTRTor (9rdfeT)

H1334546965.

91334546966, ALY

91334546967, j (m)

2915394246965, aﬁ-a
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Largest amount of freshwater is present in :

Options:

91394345969, Lakes

91394346970, NVerS



Glaciers
91394246971,

b - =
91394346075 1 olar ice
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TSIl 9T 21 Haifees A foeme 2 2
Options:

913345465969, Eﬂﬁ ﬁ

91334546970, :lﬁ?'ﬁ ﬁ

91334546971, ‘rérf\sm ﬁ
PEIRIERTR

1334546972,
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Least polluting energy generating technique among the following is :

Options:
Magneto-hydrodynamic

91394346973. : -

: & C IOW
91394348074, 1 DETMAl power

Fission based nuclear energy
91394346975, e

D - - =
hotovo
01594346976, Photovoltaic
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Options:

91394346973, | |il—e|$§|§[ TTH




e gra

91334546974,

150434607 TR SATHTR YR FHel
Thiedicesh

91334546976,
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Assertion (A) : Hails damage the standing crops.

Reason (R) : In India, hails occur only during the winter season.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394346977,

o1504346075 DO (A) and (R) are true and (R) is not the correct explanation of (A).

01304346070 (A) 18 true, but (R) is false.

(A) is false, but (R) is true.

2915394246950,
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AR (A) :  SEghe § @ g8 FHA T 2l 2|
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che :

Options:

(A) 3R (R) S T&l § 3R (R), (A) T Tl =120 2

91334546977,

(A) 3R (R) i Tl g 3R (R), (A) FT Tl AT T 2|

91334546975,

1394346979, (A) el T, foh=] (R) TTeTd g
(A) 7T B, R (R) HET E

213342489850
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Who was the Chairman of Secondary Education Commission set up in 1952 ?

Options:

S S EGET: Dr. B.R. Ambedkar

Sh. K.C. Pant

2915394246982,

Sisa4sacess Dr- AL, Mudaliar

Sisodzdaess Dr. 8. Radhakrishnan
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1952 T Tnfya fgdta foen s & 31s9e) A 972
| 1. 1.3, ATISH

9139454685981,

41 .91, 9d

91234546982,

91334546953, Sl ‘qt‘!ﬁ[ 5

2l TH. THIRYH

91334546954,
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Match Set - I with Set - 11 ;

Set - 1 Set - 11

(Regulatory body) (Field of regulation)
(a) NCTE (i) Law
(b) BCI (ii)  Architecture
(c) COA (iif) Professional courses
(d) NBA (iv) Teacher education
Code :



Options:

o139434698s, (1) (1) (V) (1)
91394346986 (iv) (1) (1) (i)
91394346987 @ (v) (i) (i)

91334546955, (II_[) (IV) (l) (I_I'.)
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[UE - [ =1 9ag-11 9 foeam =i -
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( Tafraraes ) (faf=rm= =1 o)
(@) WHTITE i) fafa
(b) S H SR (i)~ STEgHN
() WY (iii) SAEEIIS TETHT
d) WAET (iv) ST=AT9eh Giemeyor

(@) (b) (c) (d)

Options:

91394346985, (i) () (v) (1)
a1394346086, V) () () (i)

sraguzucosy B AY) (1) i)

91234546955, (L[l) (IV) (1) (”‘)
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The LEAP programme of MHRD is aimed to train University faculties in :

Options:



ETnivre Scientific research

Academic leadership
913943246990

s —_
91394346991 New technology

51354346592 Institutional economics
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e GH1EA faeh™ AT & LEAP HTdshH 1 3599 favafdenerd feesng=< o1 feiferd § 9 forg
qreTferd el 22

Options:

9153394246959, ] | @H

215394246990, SHITHD F]qfq

ECIER IBIUED|

91334546991,

TN 3]

2915339424899%.
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The National Education Day is celebrated to commemorate the birth anniversary of
Options:

51394346993 DT. Zakir Hussain

Justice Hidayathulla

91394346994
. ¥
siseisicage Lr-Fs--Abdul Kalam
Maulana Abul Kalam Azad
91394346996,
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Options:

2l SRt g5

2 fegmEdea

2159424685994,

912334546993,

UL, 375l el

2915342469395,

91394346996, et HeeT shefH HATS
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With reference to ‘Right to Education” (RTE) which among the following is correct ?
Options:

Making higher education upto 21 years of age a fundamental right.
91394346997. :

b T - ' . p— .
—— I mwdmg free uniforms to students upto 18 years of age.

No examination of students upto 14 years of age.
91394346999, 4 ?

01594547000 Making elementary education upto 14 years of age a fundamental right.
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Options:

21 94 1 37y doh I=ac) foren 1 AHar a4 |

91334546957,

18 94 Kl 3 o Ta=nfo™i s . 9cF dremmes UM 3|

91334546995

91394345999, 14 9 Fl g dsh o forenferai =t aten &1 <11

14 =9 T 1Y Tk WA fen = e s

891334547000



Paper I1

Group Number : 2
Group Id: 913943158
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 200
13 Bengali
Section Id : 913943158
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 913943612
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394311965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

{6 55 [T
— ‘PIAEeR” e 93 49 59
Options:
91394247001,
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EEHYH

291234547004,
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Options:

2915334247001,

B133454700Z.

91334547003,

STCHYH

91334547004,
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Options:

A

91334247005,
91334347008,

291334547007,

g

91334547008
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291334547005,

91334547006,

Elelic)

91334347007,

B S

215394247008
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Options:

(2)-98%, (b)-UF, (c)-B%, (d)-5EF
91394347009,

(2)-%, (b)-BIE%, (0)-OF, (d)-SaF
A1394247010.

(a)-9[C%, (b)-9C%, (c)-C%, (d-T%
91334547011,

(a)-G%, (b))%, ()-S5, (47
91334547012,
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(a) ST BHETI ST SIETS A |

(b) AT 904F e 21 S5 (@00 A1 @10 Bal MR &l Se |
(e) (N T F-3=F |

(d) CTHTIE (A R /S w1 M3 7181 <1 99 =- @I oY |

HLTF @ :
Options:

(2)-9[8%, (b)-UF, (c)-B%, (d)-5EF
91394347009,

(2)-%, (b)-BIE%, (0)-OF, (d)-SaF
A1394247010.

(a)-9[C%, (b)-9C%, (c)-C%, (d-T%
91334547011,

(a)-C%, (b)—C%, (o)-HC%, (4S5
2912334547012,
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Options:

5 ARe!

91334547013,

91394347014, D"

E=-femre

91334547015,

91394347016, TG0 1<
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5 AeRe!

91334547013,

91394347014, NCND-

me-fmE

912334547015,

91394347016, TSty 1<
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Options:

NIECA 316 O, G Ot e fs=es B |

B91334547017.

NIZCA WG O, G Ot e f6 G |

2912345470158,

NIZCA “feer O], webrer foa G |

913345347013,

NIZCA S B1p, w1 B1 303 B0 O |

B1334547020,
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Options:
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91334547017,

NIZCH 316 O, G Bl e f6 G |

2915334247015,

NIZCA S O, webrara foes G |

91334547013,

NIZCA #1281 BI, w1 B1 CF BI0G G |

91334547020,
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Options:

& O ST
21594247021, EIF@

HE] B@= O
9123345347022, {r@

HE @ T
912334547023, E@

&) O <k
91334547024, ﬂr@
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Options:

&) O T
91334547021, ﬂr@

HE]) S T
91334547022, zIr@

HE]] BG@= Ll
91334547023, Er@

& O <k
21594247024, zIr@
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Options:

T 3 IfF 33 uT

2912334547025,

=7 8 e 533 98T

91334547026,

= wE 8 I saw
31394347027,

) o 98 e ue
91394347025,

Question Number : 57 Question Id : 91394311971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘A SICE TRITH 8 IO AICHRT P ATE Hey 8 IS N OF-SGw
R 3 AT QA AT ©6d [t FF -
W) : A0C] 290ES SRRReeE SIS @ o FF |

e : @ G TR @UIR @I ZES |

P9 :

Options:

e @ CEER -
91394347025, EIT@ =

g 3 BT
91394347026, zﬁﬁ Eﬁ

= OF 8 e oew
91394347027,

& e 58 Ife ue
91394347028,
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01394347059, B (B, (©)-iv), (@)
91394347030, @D (B¥), (}-(1), (d)—ii)

(a)iii), (b)—(iv), (e)(ii), (d)—(i)
91394347031,

(a)—{iv), (b)—(iii), (e)—(id), (d)~(1)
91394347032,
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(a)(iii), (b)—(i), (e)(iv), (d)(ii)
91394347029

(a)—(ii), (b)—(iv), (e)—(i), (d)—{iii)
91394347030.

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
91394347031,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394347032,
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Options:

91394347033, =S 1

FIATSCE T e |
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91394547035,
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Q1294247028
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91394347033, TS Ll
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eTgef

212334547037,



SaiciERed

91234547035,

FHASTH
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ZHIE T
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aTFef

91334247037,

SaiciERed

2915334247038,

FHADTH

91234547039,

ZANICAE T2

91334547040
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91334547041,

A

2915334247042,

2912334547043,

PRI

91334547044,
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91334547041,

A

912334547042,

91334547043,

AT

91334547044,
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Options:
IGHIE]

o,

2912334547045,

91334547046,

91334547047,

913345470458,
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IGHIE]
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A
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A
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Question Number : 63 Question Id : 91394311977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FASPHR SLEIAIPRIL TS GBI HS -~ (@ TS Seyel’ 1 ‘viegfs” oy
‘P8 == st e R e, fof &=

Options:

291234547043, =

R =&

91334547050
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Options:

91334547043, -

FReeera =&

215394247050

fisae1 SCEINE

91334547051
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(a)-"C%, (b)-SE%, (c-T%, (d-HS%
913394347053,

(a)-3G, (b)-CF, ()T, (d)-BS7
91334347054,

(a)-9[0%, (b)-9C%, (c)-T%, (d)-T=
91394347055,

(a)-C%, (b8, (-G, (d-HC7
913394347056,
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(a)-C%, (b)-BC%, (c)-Ta, (4SS
91394347053,

(a)-5C%, (b)-C, (c)-T%, (d)-S%
91394347054,

(a)-9C%, (b)-5C%, (c)-T%, (d)-T=
913394347055,



(2)-%, (b)—E3F, (o)—F[eF, (d)-SIF
Q1594247056

Question Number : 65 Question Id : 91394311979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s SAPneif 4ft Siferr (TRaEIeH 32 OICH STEIEE N TS - R 3@
AL (A 0T GEdfb T 36 -

2= Siferl el wiferp
(a) I @ TCVI o
(b) g < (i) =G

(© <o Rrff (i) fgeye
(@) ~REE= (iv) JHREG

HAPw .
Options:

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
H1334547057.

(a)—(iv), (b)—(iii), (e)—~(i), (d)—(ii)
91394347058,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234247059,

(a)—(i), (b)—(iv), (e)-{iii), (d)—(ii)
9153394247060,

Question Number : 65 Question Id : 91394311979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1T APNAR 55 GIfeTa (TRINESH G OItHE ST JE SHEPT-REE 0
AFS (VT T SEd’ e 3

o= SifeTl ey wiferm
(@) E eE (i) LW
(b) S < (i) Hxg

(© s R (i) fiarzre
() “RmF" o (iv) JHREG

AP :
Options:

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
91234247057,



(a)—(iv), (b)—(iii), (e)—(1), (d)—(11)
91334547058,

(a)-11), (b)-1), (e)Liv), (d)—1ii)
91394347059,

(a)-i), (h)—iv), (e)—(iii), (d)—(ii)
91234547060,

Question Number : 66 Question Id : 91394311980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Ioes TR B RAE OIS T : AL’ — SR IR AR
SR AE G Afbe ZEw ;

Options:

B[S0 T
91394347061

_Eﬂﬁ@@ﬁ

91334547062

TSP 50w

215394247063

ATOPFl 7w

91334547064

Question Number : 66 Question Id : 91394311980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“ofoes TR B KR OIS T : TEe” — SFRPred FIEE AR
S W) @G 3fbe 2 ;

Options:

TS Bl
9139434706 1.

_W@Eﬂ‘ﬁ

91334547067

ST T

91334547063

AT 2w

91234547064

Question Number : 67 Question Id : 91394311981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TremeE EER M G A Y S ST SET FEG HH (8 5 |
IS MFS (A T TG BfFe o -

(a) S-sre-sNIferfer @3l @G Mo — WZeT AR 781 S WZe TR B3I |

(b) “TIPHISBRS’ IO @ F1 (Y, ©f @MIfTe, 798 ‘orge’ -« 31 1% ©f
PR |

(0 SIS AETSR MR TR SO TP 8 4ffta “Naan M A0F 767 77 |

(@) S (T TP SF e I Jd M A1, A Sl Joe MAhRE [Kperst 71
TG |

HPe :
Options:

(a)-C%, (b8, (c)-HG, (d-SC7
91394347065,

(a)-9[0%, (b)-SC%, (c)-T%, (d)-T=
913394347066,

(a)-C%, (b)-C, (c)-TCa, (d)-SHCT
91334347067,

(a)-"5G%, (b)-B[G%, (c)-B[C%, (d)-Ta
91394347068,

Question Number : 67 Question Id : 91394311981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TremeE EIER MR S T Y S BT SET PG T (6 5 |
PG NFS (A T TG BiFre T -

() Sfi-wrg-stifafer pfG @G Ao — AEST AT 781 8 WZST 0T BIY |

(b) “TIPHITBRCS’ PO @ 1 (Y, ©f @GS, 98 ‘Crage’ -« 31 1% ©f
Gt |

(0 SIS NETSR N2 TR SO TPl @ Fofftd “Iaa W A0F 67 77 |

(@ I (RS ST SF e I HA M A1, A ©IF Jie MAhRe [Rperet 71
TS |

HPe :
Options:

(a)-C%, (b8, (-G, (d-HC7
91394347065,

(a)-9C%, (b, (c)-T%, (d)-T=
913943470686,



(a)-8%, (b)-TC%, (0T, (d-HT%
91394347067,

(a)-5[%, (b)-BG%, (oSG, (d-T%
913394347068,

Question Number : 68 Question Id : 91394311982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ao TEeR WEeRE KTeies @FE T8 Aisd TReia waes [RoE 33
M WFS (AT ©F e blre 764

(a) ‘& YOG ‘BP’ 2N 2B SR S Foe I6 |

(b) SHfeeRe AT 249! WG IS |

(0) VS PHA G RIA 27 92 PCOA NS (@S IS |
(d) FRIACRCS 2-FIF 2ReTS! A SRS SIEfs Io9T |

HFo :
Options:

(a)-C%, (b)-BC%, (c)-Ta, (4SS
91394347069,

(a)-5[@%, (b)-C, (c)-HC%, (d-T
91334347070.

(a)-SE5, (b)-Ca, (c)-CF, (d)-C
9139434707 1.

(a)-C%, (b)-HC5, (c)-9C%, (d-5S7
91394347072,

Question Number : 68 Question Id : 91394311982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AP TR WeRR ®Teies @FE 8 Aisd Rl waws [Roh 36
e EG (AT ©F GEdl bee 734

(@) ‘&' FEIGEH ‘@@’ IR 2B S S FHe TN |

(b) Ffisoe RIS 2T [@ns TS |

(© YT JG ! ML 27 IR ARPUSA ! @073 TS |
() FRLACE 2K 2RTS] A SRS SIS IS0 |

S :

Options:



(2)-9%, (b1, (c)-%9F, (d)-STSF
Q1594247069

(a)-98%, (b)-*G%, (c)-5C%, (d-T%
91334547070,

(a)-B[0%, (b)-B%, (c)-V%, (d)-T%
91394347071,

(2)-9%, (b)—STE%, (c)—BT&F, (d)-ST
1394247072,

Question Number : 69 Question Id : 91394311983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1T AP 55 GIferala I I B 0 MO AR TS K@= F=
7S FS (AP ST Gwaf’ A 7 -

24y Sifer R wifem
(a) I CHICE (P14 =S A1) 0 Rmeifs
(b) TR A1 77 4 A (i) BEm
(e) ey <+ fofy wfy o @ferg (i) ety
(d) 459 FW 51 SF S7HS (iv) ToffwrsT
HPw :
Options:

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91334547073,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
913324247074,

(a)-iii), (b)id), (e)-{iv), (d)—~1)
91234247075,

(a)—(iv), (b)—(iii), (e)(i), (d)—(ii)
913942347076,

Question Number : 69 Question Id : 91394311983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1T APNATR 55 GIferla IY@FH SRTA B 0 MO AR TS R F
7S FS (AT S Gwal’ A 3 -

2= Gifers e wife
(a) I ICE (1] = 73] 0 freifis
(b) TRt A1 3% 74 AR (i) HEmI
(e) ey <1 fofy wfy o @ferz (i) wsrmy
(d) 459 FH (5 SF SHHS (iv) TofIfwis
AP :
Options:

(a)-ii), (b)—(iv), (e)-(iil), (d)—~(1)
915942347073,

(a)—(iii), (b)—(iv), (e)i), (d)—(ii)
B1334547074,

(a)—iil), (b)~(id), (e)—(iv), (d)~(1)
91334247075,

(a)iv), (b)—(iii), (e)-i), (d)—(ii)
91394347076,

Question Number : 70 Question Id : 91394311984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

CIGErHd ‘SEAvNSE -« FlAeed Jfef g o TFeE W Gt tiEe e
Options:

GFlerefs — SaeEiioife — FFeiafs — F3™efs

215394247077,

FAetefs — 339eifs — SPreAeific — SETEANARS

91234547078

Tifs — Mol — SFeEEifc — GFefs

212334547073,

SESEAAe — GFerefc — A — FFfs

91334547080,

Question Number : 70 Question Id : 91394311984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

CHECEHd ‘SR -7 TSI Afemg oW TFeE e el tiEe 764

Options:



TPlerefs — SEeENife — FFeiafs — I3™efs

91334347077,

FAetefs — 39eifs — SHereifc — SHFEEANARs

91234547078

TYeife — FAMielfs — SRSEAfe — THefs

91334547073,

SFSEAAe — GFerefc — AR — gFafe

91334247080,

Question Number : 71 Question Id : 91394311985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FIZ, (@ AN’ - GF PRIV 0 6T T | AL (T OF BF-90F
e 7 o Gealt e 7 -

() AIER I TS 6-01pl

(b) 2NTCET PRI Sl 2-Gr

(©) SRR AARres fos 3-Gi

(@ y=faeeE fow 2-0r

AT .
Options:

(2)-E%, (b)-STGF, (0-9%F, (d)-STEF
91394247081,

(a)-G%, (b))%, (¢)-T8%, (d)-HC%
91334547082,

(a)-%, (b)-BET, ()T, (d)-BETH
91394347083,

(2)-ST%9F, (b)-E3%, (0-F, ()-©F
Q1394247054

Question Number : 71 Question Id : 91394311985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I AT IMSSME’ — O FEP0 [0H (18T T5 | TS (AT O BT -0

(@) AIEER I T 6-51l

(b) {eYTCad PRI oAl 2-Gr
(©) SR *JwIEred fost 3-Gil
@ yfRe o 2.0

e .
Options:

(a)-G%, (b)-BC7, (c)-BF, (d)-ACT
91334347081,

(a)-C%, (b)-T, (0T, ()-8
9139434708%.

(a)-8%, (b)-SG%, (c)-HG%, (d)-SC%
913394347083,

(a)-9C%, (b)-CF, (c)-T%, (d-T
91394347084,

Question Number : 72 Question Id : 91394311986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

orE Wa-7 98 (A FEI6 WT-SET J& (T 39 | e (AT 5% et
fole =1 -

() T -7 oy @A sl aife ks ‘oSl Afaer |

(b) “GHIG AT S1E gfied T8 (R ANSAIF IR ST G35 B “nfy s |
(0 ‘Frer’ s ‘e 8 Afenr sEsrEr wesfs |

(d) ‘Fger STy ISR R RGeS qFoAg ST et |

TR

Options:

(a)-C%, (b)-BC%, (c)-T, (d-SSC%
91394347085,

(a)-8%, (b)-T%, (085, (d-HT%
91394347086,

(a)-9[3%, (b)-9C%, (c)-T%, (d-T=
913394347087.

(a)-G%, (b)-BG7, (c)-HG7, (d)-Ta
91334347085,



Question Number : 72 Question Id : 91394311986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

H0TE fE-7 99 (U0 IEF0 ©5-9e% I8 (s 36 | Fode (0 5 Bl
fofw T -

() Coi fig-7 oy @A s oo sk ‘aasi Afaer |
(b) ‘GG AT It Hfied TR (e ST SR St Q:f o iy st |
(0 ‘Fre!’ SEft ‘e 8 Afenr serEs wesfs |

(d) ‘S SN AR FRH o GFOAG S e |
H(Fo

Options:

(2)-9%, (b1, (c)-%9F, (d)-STSF
Q1594247055

(a)-C%, (b)-20%, (¢)-8%, (d)-HC%
91334547056,

(a)-B[0%, (b)-B[W8%, (c)-B%, (d)-B%
91394347087,

(2)-9%, (b)-STEF, (c)-B[F, (-7
Q1394247 088.

Question Number : 73 Question Id : 91394311987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘PR A6 CwiEaea & e’ — I AEPRSRET S SItE. GreR!
2

Options:

2915334247089,

91334547030,

91334247031,

215334247032,

Question Number : 73 Question Id : 91394311987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘FRSTE AGE CHEaNa & S5 — I @ERERER S Stz GrerR!
34 -

Options:

B91334547089.

291234547030,

2153342470391,

B91334547032,

Question Number : 74 Question Id : 91394311988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SFRICEEP AN “-GF A SAI 2RE PR GF6 WKy 3 S AT e el
TAE | OF wF-IwT {5 FE WEFe QAT 5F St e 7394 -
N = A1 (FTARPUE SIS SIS B B 26fee Sizsfes s == J921
3 PO |

e : @1 1T S T NS Hiey ey sfde |

AP -

Options:

7 8 I 133 ©9F

912345470393,

= 3 IF 128 weE

2912334547094,

=) wes 98 Ife uw
91334547035,

= v 58 e waw
91394347096,

Question Number : 74 Question Id : 91394311988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SIS I -G A S SREE SPRE I 7Ky 3 S AACF Ife e

AR | 99 OF-SGT [6H T TEFe AT 55 TG e 5 -

WY : I (GTATR AT HARSH S B 2bfTe Siebfrs segs = 3921
T P |

e : @1 TR S T NS e Fgees e |

b (RO

Options:

7 8 I 133 ©9F

912345470393,

T 8 IF 738 OeT

2912334547094,

) wew 58 Ife ua
91334547055,

= wF [F8 Ife Tam
91294347036,

Question Number : 75 Question Id : 91394311989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

RS Afenr offm AP awEess oF o 1 T Remei 4t el
8T 3 | SoF Gifed A NG KA I AFe (AT BT OEd’ Fme 39

o=y wiferl e e
(a) Syllabic pause (i) 'GI‘-II’ Tfis
(b) Elison of pause (i) &Y Ife
() Metrical pause (1ii) Gﬁ?ﬂ%
(d) Sense pause (iv) e
P :
Options:
(a)—(1), (b)(iii), (e)—{iv), (d)—(ii)
913942347097,
(a)—(iii), (b)—(iv), (e)=(ii), (d)—(i)
Q1394247 098.
(a)—(iii), (h)—(ii), (e)—(i), (d)—iv)
9123942347099,

(a)—{iv), (b)—(1), (e)—{iii), (d)—(ii)
91394347100



Question Number : 75 Question Id : 91394311989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

2R ARerAr SR AP 2ARIEEE TR Fo A % AR 5t eI
e 59 | So Gifed N ANEST RF 3@ A9Fe (AT BT CEd’ Frme 39

=y Siferpl faer wiferm
(a) Syllabic pause (i) '('il‘-II’ZEﬁ?
(b) Elison of pause (i) &% fis
(e) Metrical pause (1ii) Eﬁ?ﬂ%
(d) Sense pause (iv) e
KT :
Options:
(a)=(i), (b)—(iii), (e)—(iv), (d)—(ii)
91294347097,
(a)—(iii), (b)—(iv), (e)—(ii), (d)—(1)
9123942347098,
(a)—(iii), (b)—(ii), (e)—(i), (d)—(iv)
913942347099,
(a)—(iv), (b)—(i), (e)—(iii), (d)—(ii)
1294247100,

Question Number : 76 Question Id : 91394311990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IO AZEOR =T, SHIF .. HFRPREE S PIEeT IR 2531 Sifes, I
Regriiei ‘el IRPT -9 @ 98 (3T 98 SeRen Faee, o 21

Options:

91334547101,
91334534710Z

91334547103,

NS

91334547104,

Question Number : 76 Question Id : 91394311990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TR IS =ofef ST ... SRR Sy IR SR 253 ey 1
Regritet e 31PT -9 7 218 (N0 98 SeRen Faes, ©f 29

Options:

CEIsES

91334547101,

S\ et s Y el

9133454710%.

TR

91334547103,

NS

91334547104,

Question Number : 77 Question Id : 91394311991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e A% 5rHa ‘TR’ SPRE IR0 WF-S9F Je (67l 27 | s
OEST {EH I 2ME TS TP 5 TE=i M 364 -

(a) PIATHCT 24775 TS AR |
(b) IR IFR ST I P KRBLFICT, WSS I8 FRR0T 18 TR |
(© Q¥ @I TARA BIRCIRZER SR GTAIE 77 |

(d) & TN T4 @ FE T GF 25 oAl |
HAAPS

Options:

(2)-8%, (b)-9[GF, (c)-B%, (d)-5EF
91394347105,

(2)-BT%:, (b))%, (0)-BF, (d)-WF
A1394247 106,

()-8, (b)-8%, (¢)-3C%F, (d)-"HG%
91334547107,

(a)-98%, (b)-9C%, (-, (d-Ca
91234547108,

Question Number : 77 Question Id : 91394311991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A6 % 5rHa ‘TR’ SPRI IR BF-S9F JeJ (67 27 | Fersed
ST {6 FE 90E HCFS SPIE 65 TeaG e 64 -

(a) IATHCA 2P FECIHS 1R |
(b) ISP PR STEPH I U RPN, NOIA0S QIR ZRRET 183 IX |
(€ Q¥ I JHRA IR SEH GTAE 79 |

(d 5 FNF T @ I- G 2 e |
AP -

Options:

(2)-9%, (b)-STGF, (0-B%F, (I-STEF
9139432347105,

(a)-98%, (b)-*8%, (c)-9C%, (d-T%
91334547106,

(a)-%, (b)), (0)-H@F, (d)-E7
91394347107,

(2)-BT%:, (b)-B, (-85, (d)-BF
Q1394247 108,

Question Number : 78 Question Id : 91394311992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Y™ GEOI 91 SPIIE SIRPPIER S0 07 T4 ~RIfSTe 241 <[ A gsfarey
I ©IF A i+ 205 -

Options:

SRR

91334547109,

912334547110,

91334547111,

e

9153394247112,

Question Number : 78 Question Id : 91394311992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y™ GEOId 91 SPIIE SIRPPIER 0% 07 T4 *RIfSTe 241 *F A gsfarey
I ©IF A i+ 205 -

Options:



91334547109,

291594247110,

912334547111,

e

9133454711%2.

Question Number : 79 Question Id : 91394311993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

QI S FRIr® Tl |
SRS Afe-5ife &I 541 ]
— JEPREE PI QT 0= -

Options:

9153342471135, betem

e

912334547114,

9153394247115, A

«fBl

912334547116,

Question Number : 79 Question Id : 91394311993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR #[ FRIBCS Fel |
RIS Afs-<ifs JRI 541 |
— JEPTEA I 9T JCECRA

Options:

91334547113, eee

e

91334547114,



91334547115, =

=51

91334547116,

Question Number : 80 Question Id : 91394311994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Sigf- SIS IR oW @ Afaem o Zafke, ¢t =
Options:

ffoar

91334547117,

TR

2915334247115,

T

912334547113,

91334547120, il

Question Number : 80 Question Id : 91394311994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Sigf-SIST oI oW @ e o e, ¢t =
Options:

fRfean

912334547117,

CIEICEC

9133454711858,

T

91394547119,

912334547120, il

Question Number : 81 Question Id : 91394311995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

I5H BLGIATR
21594247121, S

A TR

913345347122,

T ]

91334547123,

91334547124, i

Question Number : 81 Question Id : 91394311995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

5 BUGIAIR
9153394247121, S

NI IR

B91394547122.

GGk

912334547123

91334547124, i

Question Number : 82 Question Id : 91394311996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

RPHS LT AU el ‘CEPE SEe)’ FESIbT @6 ASEE 24
Options:

Areib

91334547125,

i

21594247126,

“fsfi

91334547127,



TG

91334547128,

Question Number : 82 Question Id : 91394311996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

RS FRLET AU Fel ‘CEPE SR’ FEGI6T @I ASEE 24
Options:

Areib

91334547125,
91334547126,

912334547127,

7aft

913345347128,

Question Number : 83 Question Id : 91394311997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
: FesRre ‘fana PR iy Spters ey Renfn Wil ERiteia asie
0= -

Options:

91334547129,
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(a)-8%, (b)-9C%, (c)-9C%, (d-HSx
91394347248,

Question Number : 113 Question 1d : 91394312027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-G SIS S TR IS SPRE A OF-ST
NE) (RGN FEAR | M8 SUFS (AT 5% Cwafl e 36 -

(@) FgwE e FReePrrer fie o AFER SomT efer fedft cfé
1t 0 |

(b) FERiEE EfoB SANICH el SIR0! AR 2R 031 TP ICTI-0E
WA FEE |

(0 ©IF ‘PPIRe] CATIER LR1T Serm 8 ¢ g AT ke Some
&l ZACE, |

() B CHIAIET W PP IoRBRE SLHF @ N GTwed
ST AP 20T |

HP» :

Options:

(a)-90%, (b))%, (-8, (d-T%
91394347249,



(2)-BT%:, (b)—%, (0%, (d)-5%F
Q1594247250

(a)-C%, (b)-9C%, (c)-C%, (-SG5
91334547251,

(a)-E%, (bS5, (o), (d)-SEF
91394347252,

Question Number : 113 Question Id : 91394312027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IE-CHAICH SIS SNPR TCARIE IS SPH TR O-S0T
T (a3 AR, | 378 HUPE (U 5 TRl e 3

(@) B e Efcaifrrer e fa Ao St el feaft e
Rretsl Seare |

(b) SRR GfozIE SATNICH S SI0! AfFe 0= A0 TP IR0
(A P |

(0 O ‘PPIRe] SANIOR LErT Serm 8 @ g A sRaife Somm
1 TR, |

() SR ICAGICEE J FARTPYR P TG @ T GIwe
ST SRR A |

HIP@ :
Options:

(a)-B[0%, (b)-BW%, (c)-B%, (d-E%
91394347249,

(2)-B[E%, (b))%, (c)-OF, (d)-OF
Q1394247250

(a)-C%, (b)-9C%, (c)-B%, (-G
91334547251,

(a)-C%, (b))%, (c)-B3C5, (d)-HS%
912334547252,

Question Number : 114 Question Id : 91394312028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

& 1T M ‘Bramreie s g Sibe el 21 Jivef B3 | ‘9% Fiver i 25re
el e ©et I” QT 00

Options:



912334547253

91334547254, -

TR O

91334547255

T ]
91394347256,

Question Number : 114 Question 1d : 91394312028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

& 1@ 3 ‘Brareiel'a g3t wite et 2= 3ibe &% | ‘9% giter ol 25re
e e T8t |7 QT 00 -

Options:

9133454753

91334547254, =

A G

91334547255

RS
91394347256,

Question Number : 115 Question Id : 91394312029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“OIE A 9% (2-05 6T A0 (W WG (SR SIWITE #I0%S8 SIeH; #b S0[
fﬁﬁ |u

— @ NEfEI N YOI @2 Fe) fofd 20e -
Options:

91394347257, TR IR

91334547258, g

Akl

91334547259,



T2l ]

291334547260,

Question Number : 115 Question Id ;: 91394312029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“O A 93 (2-05 ©IF 0% W STSE (SR SINTE #0FS SICTeH; Fb S
fﬁfﬁi |u

— @ MEfEF 7o §ibepre 9% Teq) fofH 20 -
Options:

91394347257, PR VIR

91334547258, i

abedl

91334547259,

R

215394247260

Question Number : 116 Question Id : 91394312030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

QAR T SR 24T

Options:

o

91334547261,

91334547262,

H1334547ZE3.

s

912334547264,

Question Number : 116 Question Id : 91394312030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

QAR FTERF LA FedT

Options:



912334547261,

91334547262,

21594247265,

s

91334547264,

Question Number : 117 Question Id : 91394312031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“qrefE @ QIEIER RIS A1 O 70z, 778 O AEE S SIEI0 PO
ek e |

— O T (@ RS P A5AIATSA o619 #PIes F_rEAId 98 7e, fof 2@
Options:

(oGl

91334547265,

RG>

21594247266,

91334547267,

B

21594247268,

Question Number : 117 Question Id : 91394312031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WS @ QRRIEE FRCW A1 ORI AR, 8 R I ST SRS PO
RAC LG

— g T (@ ZAS P AT “Yob1ae s FEAIYE 9% W), fof 20 -
Options:

(i}

91334547265,

Ao

91334547266,



91334547267, o

B

21594247268,

Question Number : 118 Question Id : 91394312032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

% “N5-5FPT1 A AS-E i e TSl OE-sraT {5 36 TS Q0

(a) B *f¥a PR 21T 16T ©@ AT A3 BT (AT oW GBS Al |
(b) (1=l A (@< ¥ §oT NS SR WS @4 =7 |
(@ *=+f-fofFe YT 8 AT W ST FAPRET IS0 0 YR |

() 2B +fire 2o efiere Afefl i sre e #15 [ Rida wnr crae |
HPe :

Options:

(a)-"C%, (b)-BE%, (c)-SC%, (d-T%
91394347269.

(a)-C%, (b)-T%, (085, (AT
913394347270,

(a)-9[C%, (b))%, ()T, (d)-T=
9139434727 1.

(a)-C%, (b)-8%, ()W, (d-SSC7
91394347272,

Question Number : 118 Question 1d : 91394312032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

% “NS-5FPT1 A AS-IBT A7 e TS wE-SreT {5 I LTS AP

(@) A 3 R FC INSTH S ARG 4T BT (AT T SIS Al |
(b) (ST #15 (1 ¥ T #MeSa S#{Caa M @74 =7 |
(0 ++-fofFe YT =R AT 1 B FAPRER Io0T 0 Aok |

(@ B JfArs e Nefiets Afefb *% Sre AR #12 fefE [fba e (rave |
AT -

Options:



(2)-9%, (b)), ()BT, (d)-9F
Q1594247269

(a)-G%, (b))%, (¢)-T8%, (d)-HC%
91334547270,

(a)-B[0%, (b)-B[W8%, (c)-B%, (d)-B%
91394347271,

(2)-%, (b)-E9F, (0)-FF, (d)-SIF
1394347272,

Question Number : 119 Question Id : 91394312033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A6 ‘TG SIFAA AG' QI ©F AN ‘ARFE) S 4TS OE-SET WS
Fere! TGI8 F(E FFS (AP 8T T e 77 -

(a) IR AN sRal ‘arfver At e =0 |

(b) &R (RN Bl A0 wga ofaa ReTE 9eng |

(0 GAIIT P78 A 5@l w3 el 2ree Ao fof i sk o e |
(d) B o1 S7HcE INoTEET (@ G FfEe 2RfRE A0 ©f SRk e |

HIF@ :
Options:

(a)-E%, (b))%, (c)-TE@T7, (d)-HET
91394347273,

()BT, (b)-ST&3, (0)—3%, (d)-OF
Q1394247274

(a)-C%, (b)-9C%, (c)-B%, (-G
91334547275,

(a)-98%, (b)-C%, (c)-9C%, (d)-Ca
12334547276,

Question Number : 119 Question Id : 91394312033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A6 ‘TG SIFAHIA AT’ QI ©IF AN ‘ARFTE) SEE ATE O%-ST WS
Feps! 613, FE FFS (AP 8T T Bizw 3 -

(a) G #(EA sRa’ ‘arfee’ e e 33w |

(b) $9& (A S’ MG 794 sfaa BeE 9o |

(¢) GAFITT PT8 AW B@’ QI8 e 2res A6 fof iy sfda orar frcares |
(d) B o1 780 INoTEET @ G FfEe 2RfRE A0 ©f SRk e |

HRPo :
Options:

(a)-8%, (b)-C%, (c)-HC%, (d-SCF
91394347273,

(a)-5G%, (b)-BG%, (c)-TC%, (d)-T=
91339434727 4.

(a)-"C%, (b)-HC%, (c)-T%, (d)-SCx
91394347275,

(a)-5[%%, (b))%, (c)-SC%, (d-T%
913394347276,

Question Number : 120 Question 1d : 91394312034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

BPre IR T, 712 58 9,
TS SR S 1% 778 I |
Flere! Ml S 7% 813 A,

Y6 =5E I A =Y
Frcere i1, Sfiy Afters 713,

FETCary I 21 i 23 i |

— 7 o Cer-g@ 9% MR T amiEe zwme -

Options:

ol Afaem

215394247277,

5\ s\ o R P

91334547278,

T AfGer

91334547273,



e “fag

91334547280,

Question Number : 120 Question 1d : 91394312034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

BECS S =, 715 58 70,
PIAACS S, S 12 58 7 |
Flere! MRl S 7% 818 A,

WY B G 11 =y |
Frecee enfe ey Aferers T2,

FETCary I 21 i 23 i |

— 7 o Cer-g@ 9% MR T amiEe zwme -

Options:

ol Afaem

2153394247277,

_mmtaﬁﬁﬁ’lw

91334547278

T AfGer

91334547273,

_mﬁww

2913394247280

Question Number : 121 Question Id : 91394312035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FAEAYT ‘TR 9T (AT TEIG ©F-EF &I (8 36 | 27 AEe (AT ©OF
Ceaf e 59 |

(a) A THE SHIG], SPEE GF2 e wran cfies 99 @re A |
(b) <A SPIY SAIGT 4T (SR ST 7, 932 ©FF (521 30 @ICAT A (7R |
(0 QF-9Fo @I FA0 IR WAl SserErer, ©F G 5w [{5- =0 25 41 |

() ‘SPEHA @ BT U 9% qR S0 =R SR o7l AR 30, g Wl
ST 221 S |

HF.

Options:



(2)-9%, (b1, (c)-%9F, (d)-STSF
Q1594247251

(a)-98%, (b)-*G%, (c)-5C%, (d-T%
91334547282,

(a)-8%, (b)-BF, (o)-SG%, (d)-BF
91394347283,

(2)-ST9F, (b)-9%, (c)-99F, (d)-STF
Q1394247284

Question Number : 121 Question Id : 91394312035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAEAYT ‘TR 9T (AT TEIG ©F-EF &I (8 36 | 27 AEe (AT ©OF
Ceaf e 59 |

(a) A THE SHIG], SPEE GF2 e wran cfies 99 @re A |
(b) <A SPIY SAIGT 4T (SR ST 7, 932 ©FF (521 30 @ICAT A (7R |
(0 QF-9Fo @I FA0 IR WAl SserErer, ©F G 5w [{5- =0 25 41 |

d ‘S 8 G AU Q% 7R ST Z0 S (741 T10vE 06, g
ST 221 S |

HF.
Options:

(a)-C%, (b)-SG%, (c)-T%, (d-SSC7
91334547281,

(2)-9[0%, (b)-E%, (c)-5G%, (d)-BF
91394347282,

(2)—9%, (b)-STEG:, (c)-BIT, (d)-OF
Q13942472583

(a)-98%, (b)-B, (c)-T%, (d-SC7
91334547254,

Question Number : 122 Question 1d : 91394312036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘EICYg AT o SREEE T ehiE ©E-uwE [F5E 3 @ (A e
WW’GW

(a) R Ry aafke areerly sm s=Ad arg=s{ad T |
(b) RIS SFeR POl Fg= 3 SPITSIF AT - P |
() SifieqerT RISl SRR (A0 S0 TR 9y SIS (Y 7T |

(d) Nz 2w AR BaereE I @rafee |
HPe :

Options:

(a)-"C%, (b)-BE%, ()T, (d-BE%
91394347285,

(a)-"C%, (b)BC7, (o-HC5, (d-T=
913943472886,

(a)-C%, (b)-T%, (o), (d-5G%
91394347287,

(a)-SS%, (b)-SG%, (oSG, (AT
91394347 288.

Question Number : 122 Question 1d : 91394312036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘EITYT T G SREEE TS wE-uwE [F5E 3 1@ QA e
WW’GW

(a) ReAAE e safke areerEl W TAdT Sre=s{@d 307 |
(b) SIS SRR PIETERA =4 SPTTSICT A - AT FE |
() #ifieqeTy RRISIT SR (0 S0 e 1Y SPTS (Y 70T |

(d) EE 2w AEMAE BeensE I0E @rafes |
TS :

Options:

(a)-G=, (b)-SC7, (c)-B%, (d-ACT
91394347 28E.

(a)-C%, (b)-HG%, (c)-HC%, (d-Ta
91394347286,

(a)-C%, (b)-T%, (c)-BC%, (4G5
91394347287.



(a)-B[®%, (b)-SIEF, (o)-ST9%F, (d)-©F
91394347288,

Question Number : 123 Question 1d : 91394312037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frea eifesm FREAIT S sitEE AW sl 59 | 99 7 | SiEfG oA
Afar e =3 @' 5=

Options:

«zIfa

91334547289,

B91334547230, el

TG

291533942472391.

FiS AR

B13245347292

Question Number : 123 Question Id : 91394312037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frea eifem FREAT S e AW Gsdl 59 | 93 7 | i3 A
AfaerR e 3 @G 597

Options:

«\1fa

91334547259,

2912334547230, el

TENG

912334547291,

Hi© AR

912334547292

Question Number : 124 Question Id : 91394312038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ERAACWE ‘IHeTe! 7’ FINACE @ FROH W 70 — Tl 0 N SRR 96
4o i

I =7

Options:



A0 A

91334547293,

91334547254,

913345472395,

91334547236, i '

Question Number : 124 Question Id : 91394312038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EIHAE ‘FHeTel P’ FILCE @ FR0E W =0 — Ffel T o g 95
st |

GG =4

Options:

T A

912334547293,

913345472594,

B13345472395,

913345472396, 1 '

Question Number : 125 Question 1d : 91394312039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“neTR (o R 1

— (oorE fa-F o (I @@ LY W (67 Fie! mafs JEE @ =i
TE |

GG 27 -
Options:
91594347297, ﬁ{ﬁ
Sl

91334547295,



53¢

91334547299,

e

91334547200,

Question Number : 125 Question 1d : 91394312039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“neTR (o R 1

— CTE G- A5 AT @1 PRI W S FiIe! Zafts e & =i
TE |

GG 54
Options:
91594347297, ﬁ‘;ﬁ

e

91334547295,

551€,

913345472399,

e

2915334247300,

Question Number : 126 Question Id : 91394312040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

YR “TH SR SPECE B BF-SeT 69 (183 T | TS Jd (0P
o GG e T ;

(a) ‘FfFrst’ +i1f49 e 99 ‘SR |

(b) ‘eIl ~f¥ B A ‘AT |

(© @ N S Aelfern 0 Iy (5T ©ItFE NG 0o ‘PG 1) 1
(d) “oPIGIR FR- IO -4F T FW ‘GEErS |

HRiFo :
Options:

()-S5, (b)-E%, (c)—BTSF, (4T
Q1394247201



(2)-%, (b)-BI%, (c)-BF, (d)-WF
Q1594247302

(a)-98%, (b)-C%, (c-C%, (-G
91334547203,

(2)-8%, (b)-9[GF, (c)-B%, (d)-5EF
91394347304,

Question Number : 126 Question Id : 91394312040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FLEH THI SRR SR SR SE-SeE 18 (8T 29 | FUPS G (A
e CwAft s 7 ;

(a) ‘Ffqcey’ A= AE 9W ‘TRl |

(b) “ISIE +fif3q Ffl A ‘Fwamar |

(@) @ A GIFF AMeIfeTan J0eT ‘1Y (517" IS NG e ‘P16 12
(d) “SPIRICIRT FR-FER-9F N W RIS |

AP :
Options:

(a)-9[0%, (b))%, (c)-3C%, (d)-HS%
912334547201,

(2)-%, (b)_B[E%, (c)-BF, (d)-¥F
Q1394247 202.

(2)-ST%9F, (b)-©9%:, ()%, ()T
Q1594247303

(a)-C%, (b)-SG%, (c)-T%, (d-SSC7
91334547204,

Question Number : 127 Question 1d : 91394312041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:

eTeH
91394347305,

g

21594247306,



FrSTiast

91334547207,

nEEane!

2915334247308,

Question Number : 127 Question Id : 91394312041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
LR A SR AR AR TS e
Options:

4o
91394347305.

Preg

91334547206,

FSaR1S]

913345347307,

_ﬂf‘:ﬁﬂﬁ

91234547208

Question Number : 128 Question Id : 91394312042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HSICTAER ‘MR 517 (AT I Cfs — s qaRefosdia, — o am
A ? S — A1 ¥ *

T T @ TG P, G 5T -
Options:

B>

913345347309,
912334547210,

91334547211,

=ge

91334547212,

Question Number : 128 Question Id : 91394312042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ST ‘MR’ 518 (I I Gfs — ‘ot qalefosdia, — o am f
YE ? &S — A1 27 ”

T 0 @ G P, G 5T :

Options:

B>

91334547209,
H91334547210.

912334547211,

&GP

9153394247312,

Question Number : 129 Question Id : 91394312043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2R 7o O [
— ‘Hier A16% (AF TFS SRCH ‘SHS STl HH U AwIeoa Ge -

Options:

G

91334547213,

291594247314,

91334547215,

913943247316, i

Question Number : 129 Question Id : 91394312043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HET Ol TSI (P
3R Joq G |7
— ‘Hier A16% (AF TFo SRCH SHS STl HH U ImIeta G -

Options:



91334547213,

91334547214,

291594247215,

91394347316, A

Question Number : 130 Question 1d : 91394312044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IO T AT BIAGH SETHID AW 8 7o AR 7T Sife cuaan =1 |
Co-CIfFTR 7 THEPT KR I MES T 9T Gult B 7 -

212N Siferal e wifers!
@ =% 0 IS SR-CT
(b) SHAET (i) AGRFNG SE-CT
(© TeED (i) SR-CTE Sofs
(d) oFeER (iv) SfeTaere -l
P9 :
Options:
(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
Q1294247217
()i, (b)), (c)~(iv), (d)—(i)
Q15942473218
(a)—iv), (b)—(ii), (e)~(i), (d)—(iii)
Q159423473219
(a)—1), (b)—(iv), (e)—(iii), (d)—(ii)
Q12943473220

Question Number : 130 Question Id : 91394312044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IO T A SHAGH SETHIAR AW 8 7o AP 7t Sife cusd 51 |
Co-CIfef 7 THET (RT3 NES AT BT Cedlt B w7 -

2= Slferl ek wiferm
(@) =5 (i) PRFES ©H-GT
(b) GG (i) AR ©R-ETwY
(e) TeAED (i) ©IF-CTWE Sqefe
() SISBR (iv) SfeTase SR-ETwef
HIP@ :
Options:

(a)—{iv), (b)—(iii), (e)~(i), (d)—(ii)
91394347317.

(a)—(ii), (b)), (e)iv), (d)—(i)
91594247518,

(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
91394347319.

(a)—{i), (b)—(iv), (e)—{iii), (d)—(ii)
91394347320

Question Number : 131 Question Id : 91394312045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘TETHA” AOF (SF H0 GNP DTN 3 Sl e (8q 77 | T S
RGP R I TS (AP 1 TG e 4 -

21 wiferst e wiferm
(a) FEAR () TIPS T SI0E

(b) fe (i) «q ST T8I SN
(¢) H (i) ST TS (ST WA P @
(d) FFwat (iv) S (S *fiF
AT .
Options:
(a)—(iii), (b)—(i), (e)(id), (d)—(iv)
Q12943473221
(a)—(ii), (b)—(iii), (e)~(iv), (d)~(i)
Q13942347322

(a)—i), (b)—(iv), (e)—{iii), (d)—(ii)
913943473523



(a)—iil), (b)~id), (e)—(iv), (d)~1)
91394347524,

Question Number : 131 Question Id : 91394312045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘TETHA AT (SF H0 CIFAPIA DTN 3 Sl A (8q 77 | T S
ARG R I TS (AP T TG Hi v -

21PN STl e wiferm
(a) PG O TS W SR

(b) e (i) «q SYNIRE T SRS
(¢) Bl (iii) ST (@] (ST MY P @eaE
(d) At (iv) S (S *fiE
b G AT
Options:
(a)—(iii), (h)—(i), (e)—(ii), (d)—(iv)
Q1294347321
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
Q13942473222
(al—(i), (h)—(iv), (e)—(iii), (d)—(ii)
Q1594247323
(a)—(iii), (h)—(ii), (e)—(iv), (d)—(i)
Q1594347324

Question Number : 132 Question Id : 91394312046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TGS NEPRIGH “NoRe FRIACEE @ FROR g *“WEd e e =
wft @ 5P G 29 -

Options:

™

21594247325,

91334547326,

91334547327,

B91334547328.



Question Number : 132 Question Id : 91394312046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

RSEe FEPHIGH “NoRe FRIATE @ FROR R A e o3 =<t
Efﬁﬂﬂﬁﬂ”ﬁﬁﬁ:

Options:

[ElSEaCRT

91334547325,

2153394247326,

91334547327,

&

91334547328,

Question Number : 133 Question 1d : 91394312047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘TSRS ST SRR R Je (e & | SR ©n-SreT {5
ALFS (AR Mo TwAG Bes 4 -
(a) Fiftex Az fm z@fke @y MeR G eifsey |

(b) ST PRI I (T PROH R WP ©F AW TR |
(© TORIG =G Fwe Py S Ee " 9F @7 |
(d) I NG W ACTEH P |

HTFo

Options:

(2)-8%, (b)-9F, (c)-5[8%, (d)-EF
215394247329,

(a)-S[E%, (b)-¥F, (o)-SEF, (d)-F
1394347330

(a)-98%, (b)-C%, (0-C, (d)-8Ca
91394347351,

(a)-C%, (b)—C%, (o)-HC%, (4S5
2153942347352,

Question Number : 133 Question Id : 91394312047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘AR ST SIPHEC PR HSY (e & | SR B8R-S [{EE
AT (AT Ao T’ e FF
(a) Hifeq o fFa zafes @y IeR SAfa eIy |

(b) S PRI I (@ FROH ] PR ©F AW TORET |
(© TG oG e Bicy Suofee oam 9F o |
(d) I FTE AN AEIEH P |

HPe :
Options:

(a)-C%, (b)-SG%, (c)-5C%, (d)-8Ca
91334547329,

(a)-9G%, (b)-*S%, (¢SS5, (d)-T%
91334547230,

(2)-ST%3F, (b)-©3%, ()O3, (d)-©F
Q13942473231

(2)-%, (b)—E3F, (o)—F[eF, (d)-SIF
Q15942347352

Question Number : 134 Question 1d : 91394312048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Rrofowe JraEe ‘384 S’ SCae AP SI8 0T G (ST S *1
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Options:

Q1394247233

AP &Gl

91334547254

ST Tl

91334547355

TG (9ISl
91394347336

Question Number : 134 Question Id : 91394312048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394347333

A &Il

2915394247354,

91394547335,

(e CIETGE NG| )
Q1294247228

Question Number : 135 Question Id : 91394312049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1t AT O I AGEE AW Q32 G FIONG TI-54T (7831 557 | 7T
Gifeferld Je THE A 0 TES AT ©F Gwdll Hoe 754

22 GIfeT ey wifers

(a) @ A (i 18
(b) TS (i) 11
(e) 7ol e (i) 17
(d) TR (iv) 22
Hs »
Options:

(a)—{iil), (b}—(1), (e)—(iv), (d)—(ii)
91394347337,

(a)—{1), (b)—(iv), (e)—(iii), (d)—(ii)
91394347338,

(a)—{iii), (b)—(1), (e)—(ii), (d)—(iv)
91394347339

(a)—{ii), (b)—(iii), (e)~(iv), (d)—(i)
91394347240,

Question Number : 135 Question Id : 91394312049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A6 7f6 SR FUFH ACER AN QR A FRENG TI-7T (33 767 | 7fb
SIfTFE 9 WS HH @ TFe QAT ©BF Ged’ Foe 36

2197 Sife ety wifers

(a) e 3R M 18
(b) ST (i) 11
(e) TsifEg e (i) 17
(d) RIS (iv) 22
H(Fo :
Options:

(a)iii), (b)—(1), (e)—(iv), (d)—(ii)
91394347337,

(a)—(i), (b)—(iv), (e)—(iii), (d)—(ii)
91394347338,

(a)—(iii), (b)—(1), (e)—(ii), (d)—(iv)
91394347239,

(a)—(ii), (b)—(iii), (e)~(iv), (d)—(i)
91394347340,

Question Number : 136 Question 1d : 91394312050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TE0E P T [ 07 EIAAIGT FIEF SIS SREEd 90 HS 3 ©F ACATH
Ifea wael Kol 3 FFe U B Geaft FeT 3=

WE) : S N S0 oamiale 50w 91 w4e w0 A9, 8 ©F
(BT YA FH |

s : A1 RIET @ S @ S (SRTSIE S FEE [ |

B NCHICE

Options:

T 8 IfE 733 ©F

91334547341,

T @ I 138 SeT

215394247342,

T BT 98 I E Taw
91394347245,



= o 78 e ue
215394247344,

Question Number : 136 Question Id : 91394312050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ja0E P o [ 0 GRIAIGT FIEF SIS SRefa0d G0 HeH) 8 ©F ACATH
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Options:

T 8 IfE 738 ©F

91234547241,

Y 8 I 758 weT

91334547242,

= v 58 e waw
913943473435

) o 98 e ue
291334247344

Question Number : 137 Question Id : 91394312051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“TE[FAGT S 5754 SRATHAISS I IS S PR GFET HE)
(ST T | WIS BFeE REE 3@ 5P SPiIE e Ceal s 39 -
(a) =& @17 cfoesfer =i 2r7 8 feb tiem 9afG o v |

(b) I FCS! *&[FTCH S G2 @IS “NeaqN I A1 |
(© @S 0= W 0 f3p7 R 9T oYy Geofig |

(d) SEETAT 2B Teye! (U AFTT W3 S T QPE |
HiPs
Options:
(a)-%9%, (b)-ST®F, (c)—%9%, (d)-STI%
913294247345

(a)-C%, (b))%, (¢)-B3E%, (d)-HG%
91334547246,



(2)-9%, (b)-%3F, (c0)—¥9%, (d)-SI%F
Q15942347347

(a)-9[C%, (b)-BC%, (oS, (d-Cx
91334547248,

Question Number : 137 Question 1d : 91394312051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T[S SIEH] 354 SHAIHAIed NN AT S FEI CFET F&)
6T 2 | WIS wEeT [RoE 3@ TS SPE e TEEit tes a3
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